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2022
ZOOLOGY
( Honours Generic/Regular)

Paper : ZOO-HG-3016/RC-3016
(Physiology and Biochemistry)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks: (any seven) 1x7=7
et 3R oRY = 3 (Reier by
(a) first termed the word ‘Enzyme’,
AT “‘greiRy” =zieo! fufe |
is the process in which matured
Graafian follicle ruptures out from the
ovary.
R4 i g Tt TR eaR oy
dfemmr = |

(b)

Contd.



(d)

(e)

(9)

()

i)

transports blood from heart to

.‘ different cells of human body

TN WA ied RN By
(PR (ST THAR [ |
Krebs cycle occurs in
(TR 5F TREHS 2| °

Amylase is an enzyme
digestion. zyme related to

TS (R 1l wfs B

Deficiency of i :
the disea};e lnsu?m hormone causes

anticoagulant inhibits co i
of blood inside blood vessels.agulmmn

GRERISTES 3@ AR foots
Coif% e A fiem | =

The protein part of enzyme is known
as

T Afo S QI

cells of testes
testosterone. ‘ Secrete
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0)

(k)

{

Answer in brief : (any four)

Oxygen dissociation curve of
haemoglobin is shaped.

e R sftem Ko @@ SR
qiR IR

In chloride shift phenomenon ion
diffuses from plasma to RBC.

I%e RS AiFTe A 2SR
sl RBC & 5ifS 3|

Thromboplastin is secreted by .
@ AR =4 FI|

2x4=8

s Bes il ¢ (Rt BiSoY)

(@) Name two enzymes secreted by the

(b)
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stomach peptic cells.

AT (BT (I T T {0 SR
i ol

What is Sertoli cell? Write its one
function.

SRR e f? TR o1 wR( fri
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() Name two hormones secreted by o-cells 3.  Write short notes on : (any three) 5x3=15
of islets of Langerhans. 5y ot Bt ¢ (R REm

ISR 0-CHEAIE 9 31 757 209 (@) Glycolysis
ferat ~ AR
g ) (b) Chloride shift
What is resting potential ?
@ &P TG FAT
3% =it Rex e (¢) Urea cycle
. o .
fe) Role of liver in food digestion.
(d) Menstrual cycle
P S6AT oIS TF'T BN | I
) e) Hormones of pancreas and their
() Different components of b_ile salts. ) functions P
e s RSw Tomm AN TR R T O TR
(g) Define cardiac cycle () Role of saliva in food digestion
YRI5 e sy g
o el ferdt|
(g) PB-oxidation of palmitic acid
(h) What is gluconeogenesis ? Aifits et ko Tk
FofertEfRg [ e (h) Draw a labelled diagram of structure
of mammalian heart.
T AN TR AR <ot % B it |
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4.

Answer any three of the following :10x3=30

o) [ fofAp Tl ol 8

(a)

(b)

(c)

(@)

Define gametogenesis. Describe briefly
the process of spermatogenesis with
diagram. 2+8=10
eI AR e Tl b ewigew
aferaie Ram st 3 =10

What is Krebs cycle ? Discuss its
different steps. 2+8=10

@5 5F {352 2ae Riea wiTwz s i)

What is nephron? Describe the
mechanism of urine formation in
mammals. 2+8=10

@ e T AT W Tesivn e
3 1 |

What are neurotransmitters ? Describe
the initiation and conduction of nerve
impulse. 2+8=10

AeTGelior & I9 ~w1 ey W=
sifipee e 3t =0
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(9)

(h)

Write a short note on mechanism of
enzyme action. Describe briefly
different factors that affect its function.

S+5=10

Teres fFiRie's seiww «ft o3 Gt &g
T e el 31 FRIE 5 I
4

Discuss the process of oxygen and
carbon dioxide transportation in
mammals. 5+5=10

TUAR AT (TEe SRS A IR oI
THIZGR <z eferaR R s 11|

What do you mean by electron
transport chain ? Discuss briefly its
different stages. 2+8=10

TG iR e e o1 e Rfen
VTR B Sl 3|

What is protein ? Explain in detail the
physiological process of protein
digestion in man. 2+8=10
2ifon 52 TR (TES &Ab'S oHi5w PRGN Z=iR
GG =10
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